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Sl. No.1
QBID:1555481

Identify the correct preposition to make a meaningful sentence.

Miurror neurons first came light in the 1980s.
(1) m

(2) on

(3) to

(4) for

fFrafafad Smmsil 6k 3% PR & ga T A SH-T TH Tad § 2

(1) &l -

(2) HY-BI
(3) HUlqlH - GIRI

(4) g% - B B, DI

1[Option ID=4401]
2[Option ID=4402]
3[Option ID=4403]
4[Option ID=4404]

Sl. No.2
QBID:1555482

Identify the meaning of the underline idiom from the options given :

Radha's brother strained every nerve to enable her to get admission in Medical
college.

(1) talked to everyone

(2) spent a large amount of money
(3) met many people

(4) worked very hard

PRt i s o= 2 -

(1) TR

(2) sqftfarg

(3) frmrs

(4) J=add

1[Option ID=4445]




2[Option ID=4446]
3[Option ID=4447]
4[Option ID=4448]

Sl. No.3
QBID:1555483

Choose the correct option to make a meaningful sentence. His secretary
tive orphanages by today evening.

(1) wall visit

(2) wvisited

(3) will have wisited
(4) will be visiting

Tt 1% 1Y Gl 11 T e Sifoyg

Bl il

. |oEurdt L |2idd & 3FER
Hdle® . | gy d e mar st
EEaIRIEGG] L |97y H ug- arel
qUTIGd IV. |[Uig | U o g aren

=< feu 0 9w edl § 9 Tl 3Tk &1 94 HIfoil:
(1) A-IV, B-IIL C-II, D-I
(2) A-L B-IL, C-II. D-IV
(3) A-IIL B-IV, C-II, D-I
(4) A-IIL B-L. C-IV, D-III

SIS

1[Option ID=4473]
2[Option ID=4474]
3[Option ID=4475]
4[Option ID=4476]

Sl. No.4
QBID:1555484

Identify synonym for the underlined word in the sentence.

Aman's parents are happy that the couple 1s trying to find an amicable solution to
their problems.

(1) just
(2) desperate

(3) durable
(4) harmonious




-9 1 Sy [SU T §: U DY (Assertion A) P &Y H [ATRad 3 al g&RI
FHD DRI (Reason R) & vq o

HfipYT A - T g G 8. F0ifd U8 PRI ¢ |
HRUIR : Tt SBRIT Weg I8l gld @ |

ﬁﬁﬂ?%%ﬁ?ﬂ%%ﬂﬂﬁﬂﬁ%w% U 3R BT T
|

(1) A SRR S ol g AR R AP ol IS §

(2) A SRR G el 8, A1 R. A P! Tel A TR &

3) ATl e afeTr Il e

(4) AGEI el e AfpTR TSI B

1[Option ID=4477]
2[Option ID=4478]
3[Option ID=4479]
4[Option ID=4480]

Sl. No.5
QBID:1555485

Pick out the correctly spelt word.

(1) Conscomtions
(2) Contientions
(3) Cosncemtions
(4) Conscientious

-9 1 Sy ST U §: U DY (Assertion A) P &Y H [aTRad § dl g&RI
FID DRI (Reason R) & vq o

DY A : §R. T, fa%g, 3rurd 31l <21iH & e a0 Juwi| &1
T far ST |

PRUIR ;AT ST & TN 95, IH Y. e e FT e giarg |

JURIGd HYA & Tdld H, Aid [0 70 f[deed] § I 9gl 3R &1 99 I |
(1) ASRRIFATTTE SRR AT TSI TR B

(2) A 3R R G IO E, A R, A BT T8 ARST 61 ©

(3) ATTE APIR ITAT

4) AT e AP RTTS

1[Option ID=4481]
2[Option ID=4482]




3[Option ID=4483]
4[Option ID=4484]

Sl. No.6
QBID:1555486

Identify the correct active voice for the sentence given below :

You are requested not to switch on the bulb.

(1) Please not switch on the bulb
(2) Switch on the bulb.

(3) Please don't switch on the bulb
(4) Don't switch on the bulb.

frafifea & w8 T oW & -
A TE T
B.Z9 d9
C. i dig

D. o8 U%%

E. 3919 Uaaig

A GT 917 fdehed] H W HEl 39 &l I9- hilaIg:
(1) A.B3RC
(2) B.C3RD
(3) B.C#RE
(4) C.D3RE

1[Option ID=4485]
2[Option ID=4486]
3[Option ID=4487]
4[Option ID=4488]

Sl. No.7
QBID:1555487

Identify the correct direct speech for the sentence given below

The Forbes told that it was not responsible for any mformation published m the
magazine.

The Forbes said "It was not responsible for any mformation published m the

(1) s
magazme".

The Forbes said. "We are not responsible for any nformation published in the

(2) = LL]
magazime .

(3)




The Forbes says, "It is not responsible for any information published m the
magazine".

The Forbes says, "We are not responsible for any information published m the
magazine".

it gl @ 3fa sagar soafug S

(4)

A S E

B %4 a1 ¥

C. s e

D. ¥®9® geuH Wl U

E. 59 §Wed &

e fRw 9w faehedl & & el SOY &l T34 Hifa:
1) A.B,.C.D.E

) A,C,D,E. A

3) C.D.E.A.B

4) EED.C.A.B

1[Option ID=4489]

2[Option ID=4490]

3[Option ID=4491]
4[Option ID=4492]

Sl. No.8
QBID:1555488

Give below are four sentences in jumbled order. Select the option that gives their
correct order.

A. The structure of the building depends on the purpose for which it 1s erected.

B. People who design a building keep in mind the purpose for which it is being
erected.

C. Humans erect buildings for various purposes.

D. One building may require strength. another may require comfort, and a third
may require space.

Choose the correct answer from the options given below :
1) C.D.A.B
2) C.LA.D.B
3) B.C.D. A




4) D.C.B.A

-1 Gl Y ST U §: U SUHYT (Assertion A) P &Y AREd & ol G801
IHD BRI (Reason R) Houh:

HAUBUT A - 341G TAT 3R FoR T HeTa] &1 Y T 81 § - I |
BRUIR : G GgTari & A fiF g |

SWRIF DY & el U, 719 S T fdeedi ¥ ¥ gad Iuged Ik &l 994
P |

(1) A SRR M HEl € IR R, A ST e AT &

(2) A SRR GHI TSI E AT R, A T UE o el §

(3) ATEIE APIR TR R R

) AT TRt AFTIRTE R

1[Option ID=4493]
2[Option ID=4494]
3[Option ID=4495]
4[Option ID=4496]

Si. No.9
QBID:1555489

From among the four options given. choose the one which 15 a grammatically
correct sentence.

(1) Now, I wants to noticing the things I never saws when I was too busy working.
(2) Now. I want to notice the things I never saw when I was too busy working.
(3) Now, I wanting to noticed the things I never saw when I was to busy working.

(4) Now. I wanted to notice the things I never seen when I was too busys work.

ffeiEa # 9 F ¥ 2eg 39 & SHE § ?
A i
B. arfeHl
C. fmm
D. Tl
E. QIfEAT

A v v ool & & 9L 3 T 939 hifaTw:
(1) A, B3R C
(2) FTAA.B 3R D




(3) FAAB. C 3R D
(4) FEEC.D IR E

1[Option ID=4497]
2[Option ID=4498]
3[Option ID=4499]
4[Option ID=4500]

SI. No.10
QBID:15554810

Find out which part of the sentence has an error. If there is no error, mark
option 4.

(1) As the fibers of the words are woven into the exquisite tapestry.
(2) of a story and the deeps of a hero are portrayed m those words
(3) The words bring forth those portrayed deeds.

(4) No Error

T A sH TP I ST o E a9 & 2

A o
B. foree
C. TER
D. Fifeard
E. Sefeerd

A fow av faehedl # & Oad 3UYE IdL &l I HITIT:
(1) HaA A, B 3R C
(2) HaAA, C IR E
(3) #a@ B. C 3R D
(4) $30C,D R E

1[Option ID=4405]
2[Option ID=4406]
3[Option ID=4407]
4[Option ID=4408]

Sl. No.11
QBID:15554811

In 1985, the Government of India launched a special vaccination programme
called :

(1) Universal Immunization Programme

(2) Indian Immumization Drive
(3) Save, Child. Save Country




(4) Immunization for Secure Future

T 1085 T YRd WEHR 1 UH (G99 Sa1au drideH URe f&ar forgsT 3
o -

(1) Fdoardl HicR&U HIIHH (GfHada SRS W)
(2) YR Ui Mg (3o SRAgeieH giga)

(3) F= g, SR I3

(4) i&rd Hids & o UfoRem GRS DR 900k TER)

1[Option ID=4409]
2[Option ID=4410]
3[Option ID=4411]
4[Option ID=4412]

Sl. No.12
QBID:15554812

Match List I with List IT

List-I List - I1
Indian Nationals Magsaysay winners under specific category
A Verghese Kurien [. Government Service

B. Boobli Geogre Verghese |[I. Emergent Leadership
IC. James Michale Lyndoh  [III. Journalism & Creative Arts
. Kulande: Franics [V. Community Leadership

Choose the correct answer from the options given below :
(1) A-(I). B-(II). C-(III). D~(IV)
(2) A-(ID). B(I). C-(IV). D-(III)
(3) A-(IV). B-{III). C-(I). D-(II)
(a) A-(III). B-(IV). C~(II). D~(I)

I 1S 1Y Gl 11 T e Sifey

T - 1 (R ATTYe) |1 - 11 (g Soft R siata #ar faera a9
A e pigH L DRI Hdl

B. §dci| ol gillal I1. STl Hdd

C. S AEdd forsle |11 TSR AR oIS el

D. Bdlcs Wiay IV. GHGIA® Hdd

= feu U fapedl § T el 3R &l 90+ Hifelt:
(1) A-(D). B-(II). C-(IIT), D~(IV)
(2) A~(ID). B-(I). C-(IV). D-(IIT)
(3) A-(IV). B-(IIT). C~(I). D-(IT)




(4) A-(III). B-(IV). C-(II). D-(I)

1[Option ID=4413]
2[Option ID=4414]
3[Option ID=4415]
4[Option ID=4416]

Sl. No.13
QBID:15554813

Match List - I wit

List - I
Type Hydrogen

A. Green

B. Blue

D. Grey

D. Pink

h List - IT

List - IT
Explanation
I. Generated through electrolysis powered
by nuclear energy
I1. Generated from natural gas but the
carbon dioxide is not captured.
I1I. Generated by splitting natural gas by
SMR and ATR method, Carbon dioxide 1s
captured.
I'V. Generated by electrolysis of water
using renewable energy.

Choose the correct answer from the options given below :

(1) A-(II), B-(I),

C-(IIT). D-(IV)

(2) A~(IV). B=(III). C~(II). D-(I)
(3) A-(IIT), B-(IV), C-~(I), D-~(II)

(a) A~(I). B=(II), C~(IV), D-(III)
Il 1S 1Y Gl 11 DT e Sifoy
-ﬁ_‘ﬁﬁ; BT T - 1 @mE)
A B 1. TRHTY Soll gR1 idd Wad fdegd-310ge- ¥ 344
11 WS id® 19 U 34 tiich Bla- I3 HRES Bl
A Il el el
1. TH.UA. . 3R U21.3R. f5ftm! gR1 nidla® 19
D. IR grmﬁgrrﬁlﬁaﬁdm HIa- I3 HFSS DI TIg0
|
IV, TaI@0g FHal &b 3ULNT 4 ofd @l [dggd-2uded
D e g I

e feu U fapedl § T el 3R &l 90+ Difulu:

(1) A-(ID). B-(I).
(2) A-(IV). B-(II

C-(111). D-(IV)
1), C-(II). D-(I)

(3) A-(III). B-(IV). C-(I). D-(II)




(4) A-(I). B-(II). C-(IV). D-(III)

1[Option ID=4417]
2[Option ID=4418]
3[Option ID=4419]
4[Option ID=4420]

Sl. No.14
QBID:15554814

Cartographers are those who make :
(1) draw maps

(2) models of Divine Figures

(3) Snow men

(4) Google Trike

HICTITER &1 &1 @ 2

(1) HHEEE

(2) g IRAl & wfiey|

(3) §Hid 7G|

(4) Tl |

1[Option ID=4421]
2[Option ID=4422]
3[Option ID=4423]
4[Option ID=4424]

SI. No.15
QBID:15554815

In 2003, space shuttle Columbia which carried Indian origin astronaut Kalpana
Chawla, an Israch and five other members dismtegrated upon its re-entry to the
Earth's atmosphere.

Name the Israch astronaut.
(1) Micheal Anderson

(2) Ilan Ramon

(3) Laurel Clark

(4) Dan's Brown

T 2003 . WY Y DI HRA ol Bi e Sed-r Jraa, U
ORI 3R UTd 3= Ta&| Pl QbR SR § 115 &f | 9109 3{1d 997 gl &
agHSd H UH:H0Y HXd 9A0 a5 [q9ied 61 715 | SoRIgdl SiaRE-ar & A/
sy |

(1) HI5Hd TS

(2) S HHA

(3) NG TP

(4) Sfa9 3




1[Option ID=4425]
2[Option ID=4426]
3[Option ID=4427]
4[Option ID=4428]

Sl. No.16
QBID:15554816

Find the next alphabets - VULHI, TSMJK., RQNLM. POONO.-----
(1) NMPPQ

(2) NMOPQ

(3) ONMMP

(4) KLOMP

fFafafEs g@a & o F 3R Tgan-¢ - VULHI, TSMJK, RQNLM., POONO. -----
(1) NMPPQ

(2) NMOPQ

(3) ONMMP

(4) KLOMP

1[Option ID=4429]

2[Option ID=4430]

3[Option ID=4431]
4[Option ID=4432]

Sl. No.17
QBID:15554817

Aman, Balwinder, Chetan, Mahesh, Pradeep. Deepti are standing in a circle
facing centre. Balwinder 1s in between Deepti and Chetan. Aman 1s in between
Pradeep and Mahesh. Deepti is to the left of Mahesh. Who is between
Balwmder and Mahesh ?

(1) Deepti

(2) Chetan

(3) Aman

(4) Pradeep

3, Fefdex, 904, Fes, WY AR S i qu H WS § SR SAST HE 90 & &% @1 iR &
|gafdR dfg iR IaT s dE e | 3T wWEiN s ey s dud 2 | 729 & a5 3R diftg
L CEl I Tl e | e A

(1) i

(2) ==

(3) HA

(4) wem

1[Option ID=4433]

2[Option ID=4434]

3[Option ID=4435]
4[Option ID=4436]

Sl. No.18
QBID:15554818




Which does not belong with the others ?
(1) Contents

(1) Chapter

(u1) Bibliography

(1v) Research Thesis

(1) Contents

(2) Chapter

(3) Research Thesis

(4) Bibliography

Fafafed § § -9 v 99 weal § 79 6] @ ?

(i) Fawa-3t

(ii) 2=mg

(ii1) TY-=
(iv) TMY-HEHY
(1) Togg-g=
(2) O™

(3) =Ny gEw

(4) -

1[Option ID=4437]
2[Option ID=4438]
3[Option ID=4439]
4[Option ID=4440]

Sl. No.19
QBID:15554819

Meena lives in Mumbai and has a house on the western beach. Her younger
cousin Rakesh lives m a small town near Delhi. Rakesh is a frequent visitor to
Mumbai and stays with Meena. Meena has visited Rakesh's house only once in
the past 3 years.

(1) Rakesh likes Meena more than Meena likes Rakesh.

(1) Meena is elder to Rakesh.

(111) Meena does not like small towns.

(iv) Rakesh wants to buy house on the beach.




(1) Only (i)

(2) Ounly (u)

(3) Only (1)

(4) Ounly (1) and (1v)

1 g § TEdl 8 o ufiel 9ggae W OO Us W B | 3US] Se1 99 UTs UHN faee
& U1 Ud BIc TeX H 5l ¢ | UHE Segl-uedl gy o1al & SR A1 & 91y Teal & | s
A A e F IR TSN S WS & |

(1) o= =1 Thw &1 gue Fedl § SEE ofiE Uew Hi91 & uhE S §
(i) FAT UEM A TS 7 |

(iii) H1 B BT TR T AL |

(iv) THT FE-d€ TR T TS TR § |

(1) Fad (i)

(2) Had (i)

(3) Had (iii)

(4) Faa (i) R (iv)

1[Option ID=4441]
2[Option ID=4442]
3[Option ID=4443]
4[Option ID=4444]

Sl. No.20
QBID:15554820

Find the missing number.,

7. 8. 153471, 132,
(1) 218
(2) 223
(3) 191
(4) 221

Fafafed dem A quem e sE S e ?

7,8,15,34, 71,132,
(1) 218
(2) 223
(3) 191
(4) 221

1[Option ID=4449]
2[Option ID=4450]




3[Option ID=4451]
4[Option ID=4452]

Sl. No.21
QBID:15554821

Arrange the followmg fractions (A-E) in their ascending order.
A.5/8

B 712

C. 13/16

D. 16/29

E. 3/4

Choose the correct answer from the options given below :
1) B.E.A.D.C
2) D.B.AE. C
3) C.A.B.E.D
() D.B.A.C.E

fafefaa fisf &1 2Re &9 & wsd |

A.5/8

B. 712

C. 13/16

D. 16/29

E. 3/4

A 6T 9w [ehedl 3 T HEL 3Aal 9dd hilelq:
1) B.E.A.D.C

2) D.B.A.E. C

3) C.A.B.E.D
@) D.B.A.C.E

1[Option ID=4453]
2[Option ID=4454]
3[Option ID=4455]
4[Option ID=4456]

Sl. No.22
QBID:15554822




A mixture contamns alcohol and water m the ratio 4:3. If 5 liters of water 15 added
to the mixture, the ratio becomes 4:5. The quantity of alcohol in the given
mixture (in liters) 1s :

(1) 12

(2) 10

(3) 14

(4) 11

U 0 F sehigd SR U 4:3 & Srurd | B e § | ol e F § diex o SR
foren f&an oia & g% SruTd 4:5 &1 8 oA © | 3w e fas F srewiga @1 A @) §)
fea & 2

(1) 12

(2) 10

(3) 14

(4) 11

1[Option ID=4457]

2[Option ID=4458]

3[Option ID=4459]
4[Option ID=4460]

SI. No.23
QBID:15554823

The value of 31574126 3.198 is approximately equal to :
63 972x 2835121

(1) 0.0023

(2) 0.023

(3) 0.23

(4) 2.3

3.157x4126x 3.198 S AR FERET A4 Fadan & Fecg ?
63.972% 2835.121

(1) 0.0023

(2) 0.023

(3) 0.23

(4) 2.3

1[Option ID=4461]
2[Option ID=4462]
3[Option ID=4463]
4[Option ID=4464]

Sl. No.24
QBID:15554824
Hfx+y):(x-y)=11:1, then 5x+3y

v

X2
(1) 45/4
(2) 4/45
(3) -45/4




(4) -4/45
ﬂﬁ(x-kyj:(x-}r):ll:1%?1_"[5;;4_31,- ?

..-

b ey
(1) 45/4
(2) 4/45
(3) -45/4
(4) -4/45
1[Option ID=4465]
2[Option ID=4466]

3[Option ID=4467]
4[Option ID=4468]

Sl. No.25
QBID:15554825

If the difference between compound and simple mterest on a certam sum of
money for 3 years at 2% per annum 1s ¥ 604, then what 1s the sum ?

(1) T 5.00.000
(2) = 4.50.000
(3) T 5.10.000
(4) T 4.40.000

afg fFht aff = 3 a9l & 2% 1t =09 91 &% | WYR0 O SR Twgls O & 8" &1
HR F 604 % O 95 U BT R 2

(1) ¥ 5.00.000
(2) ¥ 4.50.000
(3) ¥ 5.10.000
(4) T 4.40.000

1[Option ID=4469]
2[Option ID=4470]
3[Option ID=4471]
4[Option ID=4472]

Sl. No.26
QBID:1094421

Natya Shastra is also called
(1) Natya Veda

(2) Natya Rupaka

(3) Natya Lakshana

(4) Natya Dharmi

ATcaRRE &1 75 ¥l HE 9 ol

(1) AEm g
(2) ATed BUE
(3) ITET A

(4) =reg y=t




1[Option ID=3201]
2[Option ID=3202]
3[Option ID=3203]
4[Option ID=3204]

Sl. No.27
QBID:1094422

Sangeet Ratnakara 1s written by
(1) Sharanga Deva

(2) Shankuka

(3) Udbhat

(4) Abhinava Gupta
Hifid W@ & dEE e B
(1) =ETeT

(2) TS

(3) 9w.g

(4) g T

1[Option ID=3449]
2[Option ID=3450]

3[Option ID=3451]
4[Option ID=3452]

Sl. No.28
QBID:1094423

Shardatanya work

(1) Dashrupak

(2) Sangeet Ratnakara
(3) Bhava Prakashana
(4) Ras Manjari
YREE-g 1 §F® ®H-91 3
(1) oEN=HFE

(2) g WHT

(3) HIF HFRIEH

(4) T HE

1[Option ID=3493]
2[Option ID=3494]
3[Option ID=3495]
4[Option ID=3496]

Sl. No.29
QBID:1094424

How many types of Samyukta hastas are mentional in Abhinaya Darpana ?
(1) 28
(2) 23
(3) 13

| S ]




(4) 32

3fig gin & fad YR % U0 ol &1 IeE fha1 7T 27
(1) 28

(2) 23

(3) 13

(4) 32

1[Option ID=3537]

2[Option ID=3538]

3[Option ID=3539]
4[Option ID=3540]

Sl. No.30
QBID:1094425

How many types of Paad Gati bheda are described in Abhinaya Darpana ?
(1) 9

(2) 8

(3) 10

(4) 5

3firg U # e ueR 31 U8 A 9ei 1 Swe e @ E 2
(1) 9

(2) 8

(3) 10

(4) 5

1[Option ID=3581]

2[Option ID=3582]

3[Option ID=3583]
4[Option ID=3584]

Sl. No.31
QBID:1094426

The total number of Karanas mentioned in Natya Shastra.
(1) 94

(2) 100

(3) 108

(4) 111

Teawee # Sfeafaa s 1 dem S g 2
(1) 94

(2) 100

(3) 108

(4) 111

1[Option ID=3625]

2[Option ID=3626]

3[Option ID=3627]
4[Option ID=3628]

Sl. No.32




QBID:1094427

The first Angahaara mentioned in Natya Shastra is
(1) Suchividh

(2) Vrischika

(3) Sambhranta

(4) Sthirahasta

ATcamRe § St e SiER & 1 87

(1) gEES

(2) 3=

(3) TuE

(4) RBrREw

1[Option ID=3669]
2[Option ID=3670]
3[Option ID=3671]
4[Option ID=3672]

Sl. No.33
QBID:1094428

The chapter in Natya Shastra which describe Purva Ranga is
(1) Chapter 2
(2) Chapter 5
(3) Chapter 3
(4) Chapter 4

AIeURING & fod (sremg) § qd W1 &1 Ieoid foean a1 &
(1) HOEg-2

(2) HOE-5

(3) -3

(4) HEOg-4

1[Option ID=3713]

2[Option ID=3714]

3[Option ID=3715]
4[Option ID=3716]

Sl. No.34
QBID:1094429

The colour alloted to Srinagara Rasa in Natya Shastra is
(1) Red

(2) Dark blue

(3) Purple

(4) Green

e H TR ¥ @ {5 I &1 gamn 74 B

(1) @

(2) wE A




(3) s
(4) BU

1[Option ID=3757]
2[Option ID=3758]
3[Option ID=3759]
4[Option ID=3760]

Sl. No.35
QBID:10944210

“Vipralambha’ and ‘Sambhoga’ are two types of
(1) Karun Rasa

(2) Karana

(3) Bhava

(4) Sringara Rasa

T IR e F TR T2
(1) FE0

(2) IO

(3) HHE

(4) R IH

1[Option ID=3205]
2[Option ID=3206]
3[Option ID=3207]
4[Option ID=3208]

Sl. No.36
QBID:10944211

The Natyashastra mentions the following number of Asanyukt hastas
(1) 28

(2) 26

(3) 24

(4) 13

e § SToatad sged gwl &1 9e [had! 67

(1)
(2)
(3)
(4) 13

R O ]
EENI = R o

1[Option ID=3249]
2[Option ID=3250]
3[Option ID=3251]
4[Option ID=3252]

Sl. No.37
QBID:10944212

The Temple of South India having all Karanas sculpted on panels of its main
entrance, is.

(1) Meenakshi Temple




(2) Padmanabham Temple
(3) Rameshwaran Temple

(4) Chidambaram Temple
gfEm urd &1 T Afe e g2 sR F U9l ) o &0 Sel 8

(1) A=eh Af=x
(2) TEHFHH Al
(3) THERA AR
(4) TEm@H Afe
1[Option ID=3293]
2[Option ID=3294]

3[Option ID=3295]
4[Option ID=3296]

Sl. No.38
QBID:10944213

The Raga Mala Clitra from Rajputana resemble the dance form of
(1) Mohiniattam

(2) Vilasini Natyam

(3) Kathak

(4) Kuchipudi

TeqaTT % e o e o et S arm T # 2

(1) #ifeT argA
(2) SR T
(3) FUF

(4) PhEYS]

1[Option ID=3337]
2[Option ID=3338]
3[Option ID=3339]
4[Option ID=3340]

Sl. No.39
QBID:10944214

The legendary Kathak maestro Pandit Birju Maharaj dicd on
(1) 170 January 2022

(2) 23" January 2022

(3) 4% February 2022

(4) 12% February 2022

FUF F o 6 [atg TR of i g 5y &7 g2
(1) 17 a4 2022
(2) 23 wHadl 2022




(3) 4 wadt 2022
(4) 12 ®ail 2022

1[Option ID=3381]
2[Option ID=3382]
3[Option ID=3383]
4[Option ID=3384]

SI. No.40
QBID:10944215

Give below are the two statements : one 15 labelled as Assertion A and the other
is labelled as Reason R

Assertion A : ‘Gita Govinda’ by famous poet Jayadeva is written in the form of
Ashtapadi-s

Reason R : Ashtapadi-s are extenisvely presented mn Odissi Dance.

In the light of the above statements. choose the correct answer from the options
oiven below

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false
(4) A is false but R 15 true

I g1 FvA U 0 8 0 S (Assertion A) ¥ w9 H fifEd € d gEN S9@ &R
(Reason R) & ®0 F,

IRy A : TEg 1 99eg g Ed Mo spadt § R T B
BRI R ; S 70 7 pucial &1 2HfiE 9ar e ¢l

SUE HYF & Al H, A 23U T fdEeat § 9 351 SR &1 90 S
(1) A R REF 9@ E R R, A & 981 =1 &

(2) A 3R R M 9T E fFT R, A 31 981 aarem 76 &

(3) A ¥@E WfdA R o §

(4) AEaR dEAIRTTE

1[Option ID=3425]
2[Option ID=3426]
3[Option ID=3427]
4[Option ID=3428]

Sl. No.41
QBID:10944216

Jaipur, Lucknow and Banaras are the three schools of styles of
(1)




Satriya Dance
(2) Goudiya Dance
(3) Manipuri Dance
(4) Kathak Dance
SO, TEAS N §ARE o [ Bl & oW
(1) =@ T
(2) e T™
(3) AU 7

(4) FEF Td

1[Option ID=3433]
2[Option ID=3434]
3[Option ID=3435]
4[Option ID=3436]

Sl. No.42
QBID:10944217

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A : All folk dances of India are directly oriented with their mdividual
folk tradition and culture.

Reason R : Bhangra is lively folk dance from Panjab.

In the light of the above statements. choose the most appropriate answer from
the options given below:.

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation A

(3) A is correct but R 15 not correct
(4) A is not correct but R is correct

1 2 A fow aw E ue sty (Assertion A vy F faf@a ¥ ar gE}
55 Bror (ReasonR) &5 v 3.

sifrmae A el SR At &1 T 3o A o WU T e
T S T ©

eproy R = 4TS U518 @1 T Ieeqyf o § |

SULRH Y=l & el &= BT 77 Ohedl & & Tdil 30t A 6l I3
Hhifaa:
(1) AsxixRaar a8 & 3k R AR a8 e &




(2) Ak Ree a8 & afa R A fr 58 e 787 &
(3) Awd & afra Rad a8 &

(4) Awd 7 & afra Rad

1[Option ID=3437]

2[Option ID=3438]

3[Option ID=3439]
4[Option ID=3440]

Sl. No.43
QBID:10944218

Given below are two statements : one 1s labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Khandita nayika asks the Nayaka to leave the place and 1s not
ready to listen to any of his arguments.

Reason R : The Khandita Nayika finds the Nayaka with the marks of his being
with another woman. she feels msulted by the Nayaks deceitful behavior.

In the light of the above statements. choose the correct answer from the options
given below.

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) A istrue but R is false
(4) A is false but R 15 true

I & Fy=T Rw v & v AfHpya (Asserion Ay wg F ffEa €A gEw
SEeF IO (ReasnﬂR}—gﬁ T F:

AT A gl s 3 9F F 99 I F v a3k g 55
ferelt off @ = g & forw AR =9 BT |

HIOT R : &0 e ToF 0= 55 o 9 F 9y {0 F A9 91 et € 599 98 0 © $00q0
EAER H 1R gl & |

IO Y= & Helleh A= 8T 777 AFedl # & 921 Ia &1 99 Hifag:
(1) Ak RaE o & 3R AH af e &

(2) A3k Raat @ & ot R Ad a8 carem a6 &

@) Agd S Rad ad &

(4) Awdr 8 & Rad &




1[Option ID=3441]
2[Option ID=3442]
3[Option ID=3443]
4[Option ID=3444]

Sl. No.44
QBID:10944219

Give below are two statements : one 15 labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Mistra Jati represents count of seven.

Reason R : Takita taka dhi sullabus are used to denote Mishra jati in South
Indian Taal system.

In the light of the above staetments. choose the correct answer from the options
oiven below.

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false
(4) A is false but R 15 true

1 2 A fow aw ¥ ue sty (Assertion A vy F fafaa & ar gE}
55 Bror (ReasonR) &5 v 3.

sRor R zfaor ardy o agfg & afre aofafa & waen @y onfg &
zotal o Torw fomanr =mar &

UL U=l o 3Tolleh - 8T 710 [Ohedl & J 98 3T &l 994 hiTaT:
(1) ANRRgat aoa E3RBAH o e

(2) AR Raa aea & afpa B A o wdr caren 798 &

(3) Aaca ¥ afra Rarae §

(4) Ao S afFaRam ¥

1[Option ID=3445]
2[Option ID=3446]
3[Option ID=3447]
4[Option ID=3448]

Sl. No.45
QBID:10944220

Which of the following items is not presented in Kuchipudi ?

(1) Tarangam




(2) Balgopal

(3) Mandooka Shabdam

(4) Thumn

faffaa § 9 &4 91 70 ugia $iagfe | wgea =8l gl 2
(1) TH

(2) SrEFgE

(3) HUE® TecH

(4) gall

1[Option ID=3453]

2[Option ID=3454]

3[Option ID=3455]
4[Option ID=3456]

Sl. No.46
QBID:10944221

Laghu 1s demonstrated by :

(1) Two clappings and one Khali
(2) One clapping and one Khali

(3) One Clapping and two Khali

Claping on first-beat of taal and counting of remaining beats on fingers depending
upon the Jati of the Taal.

WY Pl 579 GRI SRMAT SIS |

(1) gl et 3R e @reh

(2) T drelt 3R U @t

(3) U Al AR &l @l

(ay OGP TG HFT TR el SR STt areft AR 1 A1 o5f Sfifdt & SR W
Srferal OR =T

1[Option ID=3457]

2[Option ID=3458]

3[Option ID=3459]
4[Option ID=3460]

(4)

Sl. No.47
QBID:10944222

Kuchipudi belongs to which state?
(1) Andhra Pradesh

(2) Tamilnadu

(3) Karnataka

(4) Gujarat

Hfagg! feg v=n § Hafi@ & 2
(1) 3y W




(2) FFHTTg

(3) FAeE

(4) To0d
1[Option ID=3461]
2[Option ID=3462]

3[Option ID=3463]
4[Option ID=3464]

Sl. No.48
QBID:10944223

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Chitrangada and Chandalika are written by Rabindranath Tagore.

Reason R : Chitrangada and Chandalika are famous Dance dramas designed by
Rabindranath Tagore.

In the light of the above statements, choose the correct answer from the options
eiven below

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are but R is NOT the correct explanation of A

(3) A is true but R is false
(4) A is false but R 1s true

I & Fu= Ry v & v AfEiwua (Asserion Ay wg 3 ffEa € ar gEw
sa% sror (ReasonR) 3y &g o

3B A Rawie va wsifeen ey s gRT forar T ¥ |

wror R Ramier va a=ifder aw @ gog aiten ey a9 gRI
uftfead & |

IULRP hU & HTelled &A1 fow 7w Aeul & & I8 o &1 99 Hifaw:
(1) Ak Reaa gog ¥ kB AR o caren §

2 Ak Regi g ot R AR aft corer 81 &

(3) Agem tafra Ramem &

(4) Aswea bofea Racg &

1[Option ID=3465]
2[Option ID=3466]
3[Option ID=3467]
4[Option ID=3468]

Sl. No.49




QBID:10944224
Given below are two statements :

Statement I : According to Abhinaya Darpana being Atisthoola. Atikrisha.
Atuchha and Ativamana are a not considered as fit for being a dancer.

Statement IT : The dancer having command over abhinaya and mastery over the
technique can overcome the dements related to body (figure) and can wimn the
hearts of the audience.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I i1s correct but Statement II 1s mcorrect
(4) Statement I is incorrect but Statement II 1s correct

i &1 v oy Y & U iU (Assertion A) F w9 H ff&d 8 O gE SUS SR
(Reason R) & ¥0 F,

fiaT A - ot gdn & ogeR sfoRmE, afdgw, sfte=n ok afdam = 90e 89
& foT Iugad 8] /1 T E |

SRR : fFT § O SR R aeE R aaq T o 769 R G # s &
B gu i oxfel & faal &1 offd &l 3 |

IUHIEd YA &A@ 1, 59 T U T § 9 95 9T &1 904 i

(1) AR ReE gea ¥ AR AH adr carem ¥

2 AsikRaar acg & aftra R A d af e a8 &

(3) Aaw Lot Ry &

(4) Asmaen & afraRas ¥

1[Option ID=3469]
2[Option ID=3470]
3[Option ID=3471]
4[Option ID=3472]

Sl. No.50
QBID:10944225




Given below are two statements :

Statement I : Aharya Abhinaya includes only costumes and make-up part of the
dancer.

Statement IT : Apart from the costume and make-up part of the artists, Aharya
Abhinaya covers the stage setting and appearance of animals on the stage too.

In the light of the above statements, choose the correct answer from the options
given below.

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statements I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II is true

= 2 g fRw o &

waa 12 3merd e & oo dusqw 3R wuasen anfder @ ¥ |

mﬂiaﬁﬁmzﬁraw{maﬂ?wmma‘ﬁaﬁmmm%maﬁraﬁ
Hoofl 3 U3t &F 79 o A A Wl § |

3ULRh &Y & el - A T v Aol d & 981 S ol 9de hifarT:
(1) o Isfix I T 9@
(2) Fyg I S HEE

(3) sug lacg & aftra sy I ¥9¢

(4) oy [ 9@ 8 AT P I 90 8

1[Option ID=3473]
2[Option ID=3474]
3[Option ID=3475]
4[Option ID=3476]

Sl. No.51
QBID:10944226

Given below are two statements :
Statement I : Acharya Bharata mentions eight rasas in his Natya Shastra.

Statement IT : Abhinav Gupta, the comentator of Natya Shastra accepts 'Shanta'
as ninth Rasa.

In the light of the above statements. choose the correct answer from the options
given below.

(1) Both Statement I and Statement II are true




(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement I is false
(4) Statement I is false but Statement II 1s true

=T g %Y= few aw &
®aT 1 3 Rd o 30T e & 316 W A Sead fhar ¥

war L qreaeme & SR & #3=T IE F oaid T B A7 W H § T
R frar & |

IR U & Hdlh A:-A 8T 710 [Obedl A d el 3ad ol 9a4 hifaw:
(1) wy= I3k o o &

(2) @ya Ik I 2&t smca @

G #a la=m t o a9 L g &

@) w3 s bt o saal am &

1[Option ID=3477]
2[Option ID=3478]
3[Option ID=3479]
4[Option ID=3480]

Sl. No.52
QBID:10944227

"Sangeet Makarand " is written by
(1) Narada

(2) Simha Bhoopala

(3) Bharata

(4) Maharana Kumbha

Hita AP e e g forar mar 2
(1) e

(2) gy

(3) Hd

(4) HERIUN FHI

1[Option ID=3481]

2[Option ID=3482]

3[Option ID=3483]
4[Option ID=3484]

Sl. No.53
QBID:10944228

Who among the following dancers has not directed dance n films?
(1) V. Ramaiya Pillai
(2) Kumudini Lakhia




(3) Birju Mahara;

(4) Bala Saraswati

8 9 fid ot 3 el § 90 &1 SR 781 S g 2
(1) 4. 3@ fowes

(2) FHIEH TiEm

(3) fovg 7R

(4) = FTE!

1[Option ID=3485]
2[Option ID=3486]
3[Option ID=3487]
4[Option ID=3488]

Sl. No.54
QBID:10944229

Identify the dancers who are proficient in two dance forms :
A. Yamim Krishnamorrthy

B. Kalaniki Narayanan

C. Mrmalini Sarabhai

D. Bal Saraswati

E. Venkatlakshamma
(1) A& C only

(2) A& D only
(3) B & E only
(4) C & D only

S B! B UgdH By o §f o LAt H U ¢ |

A. T S
B. Fwi==! TREm

C. gunferdt suE
D. S8 T3t
E. 3%c @&

AT feu U fG@cal § § T9g] SO &1 994 i
(1) FIAA R C




(2) FIT A 3D
(3) Haa B IR E
(4) HIaC 3D

1[Option ID=3489]
2[Option ID=3490]
3[Option ID=3491]
4[Option ID=3492]

SI. No.55
QBID:10944230

Identify the dance styles in which more innovation varieties of costumes are used
A. Kathak

B. Mohimattam

C. Kathakali

D. Bharatanatyam

E. Sattriya

(1) A & D Only

(2) D & E Only

(3) C & D Only

(4) C & E Only

7 T Dol 3 g5 S oFE TdiEar SR AEyar & S auyE &1 wER feal 9§

A Fusm

A BT v oedl 7 O HEl L A 9499 hifAg:
(1) Fear A3k D
(2 ¥aa D3R E
(3) ¥ger C3ik D




(4) Fga Caik E

1[Option ID=3497]
2[Option ID=3498]
3[Option ID=3499]
4[Option ID=3500]

Sl. No.56
QBID:10944231

Match List I with List 1T

List I

A. Kartarnmukha
B. Katakamukah
C. Tripataka

D. Mayur

(1) A-II. B-1, C-IV. D-III
(2) A-III. B-II, C-IV. D-I
(3) A-IV, B-III. C-II. D-I
(4) A-IIL. B-IV, C-II, D-I

(1) A-II. B-1, C-IV. D-III
(2) A-III. B-II, C-IV. D-I
(3) A-IV, B-III. C-II. D-I
(4) A-IIL. B-IV, C-II, D-I

1[Option ID=3501]
2[Option ID=3502]

List IT

I. To pluck the flower

I1. To show the corner of eyes
ITI. To denote a creeper

IV. To depict Indra.

(e. g. : A-IL, B-III. C-IV. D-I)

Choose the correct answer from the options given below :

Il 1 & WY 3 11 1 o e

SEIN! T4t 11

A. FaE I. T4 i & forg

B. #eHHE I1. 3ifet & &R feu 7y
C. oA I11. &1 =1 fgEm & R
D. ¥% IV. 5% &I <&ty & fom

1 feu U fawedi § € Tg] 9T &1 994 S




3[Option ID=3503]
4[Option ID=3504]

Sl. No.57
QBID:10944232

Match List I wath List 1T

List I List II

A. Sushir Vadya [. Manjeera

B. Awanaddha Vadya I1. Flute

C. Ghan Vadya II1. Saarangi
D. Tal Vadya I'V. Dholak

(e.g. : A-II, B-III, C-IV, D-I)

Choose the correct answer from the options given below :
(1) A-IV, B-III, C-II, D-I

(2) A-II, B-IV, C-I, D-III

(3) A-L B-IV, C-III, D-IV

(4) A-III B-IV, C-III, D-I

T 1 &1 g4t 11 ¥ e #ifn
it 1 it 11
A, gROE I. Hell
B. <@g . s
C. wHaE . =
D. dddg IV. eios

A fou 7o fomeal # 9 981 3T &1 99 ifor:
(1) A-IV,B-IIL, C-1I, D-I

(2) A-IL B-IV, C-I, D-III

(3) A-LB-IL C-TII. D-IV

(4) A-IIL B-IV, C-IIL, D-1

1[Option ID=3505]

2[Option ID=3506]

3[Option ID=3507]
4[Option ID=3508]

Sl. No.58
QBID:10944233

The Dancers wear nine yerds saree in which of the following dance ?
(1) Ghoomer

(2) Garba

(3) Lavani

(4) Bihu




fofafaa & § v 7o & Fdfeal =1 7y &t TSt ug=dl 27
(1) HHY

(2) "HEIl

(3) wanft

(4) dig

1[Option ID=3509]

2[Option ID=3510]

3[Option ID=3511]
4[Option ID=3512]

Sl. No.59
QBID:10944234

In which folk theatre the structure of stage 1s rasised on bamboopoles at the
height of mmimum ten feet?

(1) Tamasha

(2) Bhavai

(3) Rasleela

(4) Maach

g die-Tcy § &9 § ©H oF Bic 31 $hals W a9 & @i I #9 O 2= @sl &ar o
o,

(1) THEN

(2) war

(3) e

(4) HH=H

1[Option ID=3513]
2[Option ID=3514]

3[Option ID=3515]
4[Option ID=3516]

Sl. No.60
QBID:10944235

'"Lai Haraouba' is related to
(1) Mohniattam

(2) Kathakali

(3) Odissi

(4) Manipuri

S BRI S WY B -

(1) HifgtaEd

(2) wyal

(3) affE=m

(4) Aforgd

1[Option ID=3517]
2[Option ID=3518]




3[Option ID=3519]
4[Option ID=3520]

Sl. No.61
QBID:10944236

Given below are two statements :
Statements I : Alaripu is performed only in Tisra jati.
Statements II : Alaripu can be performed in all five jatis.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I 1s but Statement II 1s true

A 2 g few o &

AT 1 - ety g fay e o faar = g1

wa=r - 3reniyg @ei ofe et 3 e o d@ad §

I HUF & el - BT 70 Ghedl 7 I ol T A 99 hITAT:
(1) wya ik ot g &

(2) o L3k 2t smea @

(3) w7 Lo &, aftra o= U smacg &

(4) w5y Laraen & oftpa o I v @

1[Option ID=3521]
2[Option ID=3522]
3[Option ID=3523]
4[Option ID=3524]

Sl. No.62
QBID:10944237




Grve below are two statements :

Statement I According to 'Abhinaya Darpana' singing is one of the qualities that a
dancer should possess.

Statement II : The dancer previledged with knowledge of music gets more
mvolved in abhinya.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I i1s true but Statement II 1s false
(4) Statement I 1s false but Statement II is true

2 3 sy Ry &
HuF |+ Sfi-gur & HFER TEE U9 0 § o et | gE 91
FUF I ; Tia &1 79 T ardt G99 g # ofds W B

SRIE HYA & A H, A U MU fased! H 9 95l S &1 954 Sl
(1) Ty AR I EHf 9T &

(2) HYF[ AR S Ea 2

(3) YA AR I EHf 3T &

(4) FF T E AT B I 9 &

1[Option ID=3525]
2[Option ID=3526]
3[Option ID=3527]
4[Option ID=3528]

Sl. No.63
QBID:10944238

Given below are two statements :

Statement I :According to Abhinaya Darpana "Sthooloshthi” is not considered
attractive hence consedered unfit to be a dancer.

Statement II : In modern times the trends regarding looks have changed and the
lips are shown extra large/thick with the help of make-up.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect

(3) Statement I i1s correct but Statement II 1s mcorrect




(4) Statement I 1s mcorrect but Statement IT is correct

= €1 BuA fau g &

FYA | : 37 oU0 & ouR RO Fe wfedd arell T A ol o sl 6 &
g el AT 9! |

HYA 11 ; 1Y 99a ¥ seds Afeda § Sufid Ad] Sed 78 & U9 $9-8e &1
Teradl ¥ g8t BT Y Hier femm o g |

IUlad YA & A 0, A G U el § 9 "gl 3 &1 994 S
(1) s AR & w81 &

(2) FYF] IR <Hf Taa &

(3) ®u [ 9E &, Qi S 11 7Toa &

(4) ®ua 7o &, A BUE 11 98

1[Option ID=3529]
2[Option ID=3530]
3[Option ID=3531]
4[Option ID=3532]

Sl. No.64
QBID:10944239

Arrange the following sanyukt hastas m reverse order.
A. Nagabandha

B. Keelaka

C. Pushpaputa

D. Kartari Swastika

E. Bherunda
1) A,C.B.D.E

) E.D.C.B.A
3) A.B.C.D.E
@) E.A.B.D.C




Fofafes dgea o 21 30 %9 ¥ afyd S|
A. AFTER

B. #ia®

C. 99
D. Foiearss

E. ¥ous

i fau 7y faeedl & 9 W8l 3T &1 994 Hifag:
1) A,C,B.D.E

2) EED.C.B. A

3) A,B.C.DE

@) E,A.B,D.C

1[Option ID=3533]

2[Option ID=3534]

3[Option ID=3535]
4[Option ID=3536]

Sl. No.65
QBID:10944240

Arrange the following Asanyukta Hasts mudras serially as mentioned in
Abhiaya Darapana.

A. Ardhapatak
B. Mayura

C. Tripataka

D. Pataka

E. Kartanimukha

Choose the correct answer from the options given below :
) B.C.D.E. A
) D.C,A,E.B
3) A,B,C.D. E
@) A.D.B.C.E




T guu A Swoifaa oRged o5 Haiel & HAgER e

A srefaaTen

A BT 7T Adedl A & 901 3O A1 a9 it
(1) B.C.D.E. A
2) DLC.A,E. B
3) A.B.C.D.E
4) A.D.B.C.E
1[Option ID=3541]
2[Option ID=3542]

3[Option ID=3543]
4[Option ID=3544]

Sl. No.66
QBID:10944241

Given below are two statements : one 1s labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Shri C. V. Chandrasekhar and Smt. Jaya Chandrasekhar both are
Bharatanatyam artists.

Reason R : Shri V. P. Dhananjayan and Smt. Shanta Dhananjayan both are
Bharatanatyam artists.

In the light of the above statements. choose the correct answer from the options
erven below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) A is true but R false
(4) A is false but R 1s true




= &1 BYA 13U Y & uF SHfHEUT (Assertion A) & w9 H faf&d 8 a1 guv 9% SR
(Reason R) & ®0 F,

HHHYT A ;0 WA, TR 1 Al o9 ISR SH MRACTH & HAER Bl
&R R : 5t f.f. y=ooe ud Sincdt =i sieae g Wiaaend & SOe ol

JUlad ®YH & e §, Hd U U [dwed] § 9 951 39 &1 994 Sl
(1) ARREA FOE AR R, A ¥ 95 = &

(2) A 3R R EH 90 2 dfFT R, A 91 98 = 8l &

(3) ANG R AfFTR 3T &

(4) ATE dFTRITE

1[Option ID=3545]
2[Option ID=3546]
3[Option ID=3547]
4[Option ID=3548]

Sl. No.67
QBID:10944242

What ig the name of the Institution established by Pandit Birju Maharaj ?
(1) Kalagram

(2) Kalashri

(3) Kalaashram

(4) Kala Niketan

4. faRe HeRT & GRI1 RIUd $1 g5 91 &1 719 T 87
(1) SIH

(2) Hondl

(3) FHH

(4) FHaIHeaT

1[Option ID=3549]

2[Option ID=3550]

3[Option ID=3551]
4[Option ID=3552]

Sl. No.68
QBID:10944243

'Gotipua' and "Mahari' are terms related to
(1) Odissi Dance

(2) Kathkali Dance

(3) Mohiniattam

(4) Chhau

e SN RN Wegae! &1 gy fHad 87
(1) s 74

(2)




FYH T
(3) AfElega

(4) =5

1[Option ID=3553]
2[Option ID=3554]
3[Option ID=3555]
4[Option ID=3556]

Sl. No.69
QBID:10944244

Which instrument of foreign origin is used in common with Indian classical
Dance, classical music, folk music and folk dancer ?

(1) Vieolin

(2) Harmonmum

(3) Keyboard

(4) Sexaphone

fEe=l 77 &1 $H-91 99 § o UGG g Jd, REig 9@iia, Aiesid 0d aegdl §
T w9 ° W Bl o7
(1) argfeH

(2) THEIFEA

(3) FErE

(4) HFBHE

1[Option ID=3557]
2[Option ID=3558]

3[Option ID=3559]
4[Option ID=3560]

Sl. No.70
QBID:10944245

Given below are two statements : one 1s labelled as Assertion A and the other is
labelled as Reason R

Assertion A : All three types of Chhau Dance use mask.
Reason R : Masks are used m Ankia Nat.

In the light of the above statements. choose the correct answer from the options
orven below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) A is true but R is false
(4) A is false but R 1s true




= &1 BYA 13U Y & uF SHfHEUT (Assertion A) & w9 H faf&d 8 a1 guv 9% SR
(Reason R) & ®0 F,

HHFYT A : BF Jd & dHl THR @I BT ITIR $ & |
HRUT R ; S e qEe] $1 W $d ¢ |

JUlad ®YH & e §, Hd U U [dwed] § 9 951 39 &1 994 Sl
(1) ARREA FOE AR R, A ¥ 95 = &

(2) A 3R R EH 90 2 dfFT R, A 91 98 = 8l &

(3) ANG R AfFTR 3T &

(4) ATE dFTRITE

1[Option ID=3561]
2[Option ID=3562]
3[Option ID=3563]
4[Option ID=3564]

Sl. No.71
QBID:10944246

Arrange the sequence of Jewellery from head to toe
A. Ottiyanam

B. Talai Saman

C. Toda, Matal, Thimki

D. Ghunghroo

E. Kasu malai

Choose the correct answer from the options given below :
(1) B,C.E,.A.D
2 A.B.D . CE
3) B,A,D,C.E
) A.B.C.D.E




iR 8 W & 70 H amEn &f et S

A. HigaEg

B. 98 989
C. drs1, Area, BmEt

D. 992
E. & ATt

i feu v et & 9 w6 SR &1 904 St
(1) B,C,E.A.D
) A.B.D,C.E
3) B.A.D.C.E
4) A.B.C.D.E
1[Option ID=3565]
2[Option ID=3566]

3[Option ID=3567]
4[Option ID=3568]

Sl. No.72
QBID:10944247

Given below are two statements : one 15 labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Meerabai was a devotee of Krishna and wrote many padas
addressing hum as her lord.

Reason R : Soordas was devotee of Krishna, who wrote mnumerable padas

highlighting his Bal-leclas.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) A istrue but R is false
(4) A is false but R 15 true




I g1 FvA RBU 0 & 0 S (Assertion A) F w9 H fifEd € d gEN S9@ &R
(Reason R) & ®0 F,

HHFYT A : TS $O1 &1 Haa O 3R S5 a1 30 @l & ©9 § 96 3 gu
3% Ug o1y |

HRU R : Gl 9 & Yad ¥ fogiH 3% amoeiensi &1 aftid & gl oF® (AR
U< ford |

JUlad ®YH & e O, Hd U U dwed] § 9 951 39 &1 999 S
(1) ARREA FOE AR R, A ¥ 95l = &

(2) A ¥R R IH 90 2 AfFT R, A 91 98 = T8l &

(3) ANGR AfFTR 30T &

(4) AUE dFTRITE

1[Option ID=3569]
2[Option ID=3570]
3[Option ID=3571]
4[Option ID=3572]

Sl. No.73
QBID:10944248

Given below are two statements :

Statement I : The costumes that Devadasis used to wear was modified by Smt.
Rukmini Devi Arundale.

Statement II : After Rukmini Devi many more dancers have experimented with
costumes for variation as well as to suit the theme and the characters of their
productions.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I is false but Statement II is true

TR Ryme
®Y [ ; Tl o gy Tg oOf 3% Jih sl 8 ervda 3 ufepa e |

&Y ][ ; Bidaull &dl & uyld aFe JaiEs A [Sfdwan gy 99 uisewH #i vy a5 ud
e % (@RE F AR e dRyE  wa U E |

IqRad FYF & AHAE 8, A Gu e et § 9 98 S &1 994 S
(1) FYHISRI sRf 9T s




(2) IR I AT 39 &
(3) FU9 [ 9 ¢, AT HUT I > 2
(4) FUH] AT L dfpTFUF 11 T 2

1[Option ID=3573]
2[Option ID=3574]
3[Option ID=3575]
4[Option ID=3576]

Sl. No.74
QBID:10944249

In which of the following items. difficult and complicated rhythmic compositions
are used?

(1) Jatiswaram

(2) Shabdam

(3) Varnam

(4) Kirtanam

FafiEa Jo ot # 3 w3t =ff 3 e ofeT okt sfew vgaa et 82
(1) WiERH

(2) FeaH

(3) TuiH

(4) Bl

1[Option ID=3577]

2[Option ID=3578]

3[Option ID=3579]
4[Option ID=3580]

Sl. No.75
QBID:10944250

Sattriya belongs to which state?
(1) Chhatigarh
(2) Bihar

(3) Assam

(4) Uttar Pradesh
g fed T8 &1 &7
(1) BETg

(2) faER

(3) HH&H

(4) TR WEH
1[Option ID=3585]
2[Option ID=3586]

3[Option ID=3587]
4[Option ID=3588]

Sl. No.76
QBID:10944251




Darpana Academy was founded by

(1) Mrinalini Sarabhai

(2) Yamini Krishnamoorthy

(3) Venkatlakshamma

(4) Ramgopal

U HHTEH! B R [H86 R Si 15 o
(1) HUTTE GRIHTS

(2) T TR

(3) dHcay

(4) AT

1[Option ID=3589]
2[Option ID=3590]
3[Option ID=3591]
4[Option ID=3592]

Sl. No.77
QBID:10944252

Griven below are two statements :

Statement I : Batu Nritya 1s performed in Odhishi Dance.

Statement IT : Ashtapadi of Geet Govind is an important item of Odhishi Dance.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I is false but Statement II is true

F4 g1 wy= fly 2
HYF [ : 9 T NfE=N § w=e o o B
&Y 11 ; fia-7ifaws &1 sddl sfeelt o &1 Asaql Jd- 3w 8

JUlad HYA & e 0, A U U g § 9 95l 3 &1 994 S
(1) @1 ARII eFf 9a &

(2) YA SR I EFf 9@ §

(3) T [ 9@ & o s I =9 &

(4) FH ] 2T T AP B I 9T &




1[Option ID=3593]
2[Option ID=3594]
3[Option ID=3595]
4[Option ID=3596]

Sl. No.78
QBID:10944253

Arrange the following viniyogas of Shikhara hasts in sequence :
A. Oshthe (The lips)

B. Stambhe (The Pillar)

C. Smarane (Remembering)

D. Radane (teeth)

E. Kaarmuke (The bow)

Choose the correct answer from option given below :
1) A.B.D.C.E
) E.B.A,.D.C
3) A,B.C.DE
4) EED.C.B. A

frer T ¥ RFRN 3 FHEER e oY
A. T8 (gfs femm & femg

B. ™ @ femH F ftm)

C. TR (R0 H)

D. &4 @)

E. ®M$ (479

e feu 7 el & 9 961 3R &1 994 Sl
1) A.B.D.C.E

2) EEB.A.D.C

3) AB.C.D.E

4) EED.C.B. A

1[Option ID=3597]

2[Option ID=3598]

3[Option ID=3599]
4[Option ID=3600]




Sl. No.79
QBID:10944254

Griven below are two statements :

Statement I : Chatusra Jati Triputa Taal 1s known as Aditaal.

Statement II : Jati is never mentioned with Aditala.

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I is false but Statement II is true

TR Ryme
HYF [ : 999 g e O sfeard & T € 9141 o gl
HUA [] - AiGard & F1Y &4 oig & 3eod el sl

JUlad HYA & e 0, A U U g § 9 95l 3 &1 994 S
(1) @1 ARII eFf 9a &

(2) FYF AR SFf 39d &

(3) FFITEE A s Il oNE &

(4) FH ] 2T T AP B I 9T &

1[Option ID=3601]
2[Option ID=3602]
3[Option ID=3603]
4[Option ID=3604]

Sl. No.80
QBID:10944255




Match List I with List 1T

List I

A. Ten beats

B. Eight beats

C. Six beats

D. Eighteen beats

(e.g. A-IL, B-II. C-IV, D-I)

List IT

I. Chatusra Jati Roopakam
IT.Mistra Jati Ata Taal

II1. Mishra Jati Thampa
IV. Tisra Jati matya

Choose the correct answer from the options given below :

(1) A-I B-II, C-III. D-IV
(2) A-III, B-IV, C-I, D-II
(3) A-II, B-III, C-IV, D-I
(4) A-IV, B-III, C-II, D-I

Tt 1 @1 g 11 ¥ e s

I
o HIAY
313 AETY
&: HE
HBRE AETY

D= e

ot 11

. g9 Wiid ¥ UsH
II. Tyl e o
1. &y oid 59
IV. o9 oifd #ed

i f&u 70 fG@cdl § 9 Hel 30 &1 904 S

(1) A-I, B-IL, C-III. D-IV
(2) A-III, B-IV, C-1, D-II
(3) A-IL. B-III, C-IV, D-I
(4) A-IV. B-III, C-II, D-I
1[Option ID=3605]
2[Option ID=3606]

3[Option ID=3607]
4[Option ID=3608]

Sl. No.81
QBID:10944256




Match List I with List 1T

List I List IT

A. Fourteen beats I. Roopaka
B. Twelve beats II. Teental
C. Sixteen beats II1. Dhamar
D. Seven beats IV. Choutal

(e.g. A-IL, B-II. C-IV, D-I)

Choose the correct answer from the option given below :
(1) A-II, B-III, C-IV, D-I
(2) A-IV, B-III, C-II, D-I
(3) A-IIIL B-IV, C-II, D-I
(4) A-L B-II. C-III. D-IV

o L ary = Uamr frema Aifere

I 1 &1 11 9 e @ifen
g I it I
A. g AE . wU&
B. §RgAEN 1. dFam
C. o AEl M. ¥§R
D. 94 AEY IV. 9@

1 feu U faswedl § 9 Tgl I &1 994 S
(1) A-II, B-IIL, C-IV, D-I

(2) A-IV,B-IIIL C-II, D-1

(3) A-IIL B-IV, C-1I. D-I

(4) A-IB-II C-TI. D-IV

1[Option ID=3609]

2[Option ID=3610]

3[Option ID=3611]
4[Option ID=3612]

Sl. No.82
QBID:10944257




Match List I with List 1T

List I List IT

A. Raaslila I. Bharart Milap

B. Ram Leela II. Vriandavan

C. Bhavai I11. Raja Harishchandra
D. Nautanki IV. Jasma Odan

(e.g. A-IL, B-II. C-IV, D-I)

Choose the correct answer from the options given below :
(1) A-IL B-I. C-IV. D-III
(2) A-L B-II. C-III. D-IV
(3) A-IIIL B-IV, C-II, D-I
(4) A-IV, B-III, C-II, D-I

Tt 1 @1 g 11 ¥ e s
I = 10
HI
d
A B I I &
I
q
gl
B. HT 1
IET B
C. g% . e
D. el IV. g 3fisa

1 feu U fawedf § € T8l I &1 994 Sifo:
(1) A-II B-I C-IV. D-II

(2) A-LB-II C-TII, D-IV

(3) A-II B-IV, C-1I. D-I

(4) A-IV.B-III C-II. D-I

1[Option ID=3613]

2[Option ID=3614]

3[Option ID=3615]
4[Option ID=3616]

Sl. No.83
QBID:10944258




Vallathol Narayan Menon 1s the founder of

(1) Kerala Kala Mandalam
(2) Kadamb

(3) Shankaranand Kalakshetra
(4) Darpana

qeud ARE #9 [Eas qmE 97
(1) 30 Hal HsTH

(2) ®cH

(3) WHEIHAS HaIEA

(4) gdm

1[Option ID=3617]

2[Option ID=3618]

3[Option ID=3619]
4[Option ID=3620]

Sl. No.84
QBID:10944259

Which of the following male dancers used to perform in female attire ?
(1) E. Krishna Iyyer

(2) Pt. Shambhoo Maharaj

(3) Pt. Mohan Rao Kalyanpurkar

(4) Pt. Uday Shankav

frofefaa § 9 o1 oy 7o @ 9 ¥ usgfa oo 42

(1) 3 PR

(2) U TR HERI

(3) Y. HEAE HeUgIET

(4) © 3eg @iax

1[Option ID=3621]
2[Option ID=3622]
3[Option ID=3623]
4[Option ID=3624]

Sl. No.85
QBID:10944260

Who 15 the author of 'Manasollas' ?
(1) Narada
(2) Matanga

(3) Someshwer
(4) Sharangadeva

WY & OE® B 82
(1) IRg
(2) T




(3) IHYT
(4) YRS <A

1[Option ID=3629]
2[Option ID=3630]
3[Option ID=3631]
4[Option ID=3632]

Sl. No.86
QBID:10944261

Who wrote 'Abhinav Bharati' commentary on Natya Shastra 7

(1) Bhatta Lollata
(2) Sharangadeva

(3) Abhmav Gupta

(4) Pundareck Vitthala
1ed-d Pl <tapt foo e ferdt
(1) Yg Tl

(2) YRS

(3) AT T

(4) gusiis faga

1[Option ID=3633]
2[Option ID=3634]
3[Option ID=3635]
4[Option ID=3636]

Sl. No.87
QBID:10944262

"Watya Darpana’ is written by
(1) Ramachandra Gunachandra
(2) Simhabhoopala

(3) Ashok Mall

(4) Raja Sarfoj

(1) ¥HA% 0%

(2) &5 yom

(3) amEi® AW

(4) T FIHTE

1[Option ID=3637]

2[Option ID=3638]

3[Option ID=3639]
4[Option ID=3640]

Sl. No.88
QBID:10944263




Match List I with List 1T

List-1 List - II

A. Mohimattam I. Alarmel Vall

B. Kuchipudi II. Sunanda Nair

C. Odhishi III. Raja Reddi

D. Bharat Natayam IV. Protima Gouri Bedi

(e.g. A-IL, B-II. C-IV, D-I)

Choose the correct answer from the options given below :
(1) A-II, B-III, C-IV, D-I
(2) A-L B-II. C-III. D-IV
(3) A-III. B-IV, C-1, D-IV
(4) A-IV, B-III, C-II, D-I

Tt 1 @1 g 11 ¥ e s
1 gt 11
A.  HifE eeH 1. oERHT gl
B. oiEYE . 9= 9
C. onfssh M. el &
D. WRadead V. wifemr 78 36
Fofafeg el § 9 98 3T &1 9094 S

e T v faeheul & Hel ST ol °gh= hifaI:
(1) A-II B-1II. C-IV, D-1

(2) A-LB-1I. C-II, D-IV

(3) A-II, B-IV, C-1. D-IV

(4) A-IV_B-III, C-II, D-1

1[Option ID=3641]

2[Option ID=3642]

3[Option ID=3643]
4[Option ID=3644]

Sl. No.89
QBID:10944264




Match List I with List 1T

List-1 List - II

A. Nitya Raas [. Bharatantyam
B. Tillana I1. Manipuri

C. Tarangam 1. Odhishi

D. Swarpallawi I'V. Kuchipudi

(e.g. A-II.. B-III, C-IV. D-I)

Choose the correct answer from the options given below :
(1) A-IV, B-III, C-I1. D-II
(2) A-II, B-III, C-IV, D-I
(3) A-L B-II. C-III. D-IV
(4) A-IL B-I. C-IV. D-III

T 1 &1 9 11 ¥ e wifem
¥t 1 et 11
A T@w I. HioenH
B. fasmm II. wforgd
C. TFM . sfesh
D. TRgcmt IV. SEgs!

i 6T 9T [gehedl # A HEL SAL el 99 ity
(1) A-IV.B-III C-I.D-II

(2) A-IL B-IIIL C-IV, D-I

(3) A-LB-II. C-1II, D-IV

(4) A-IL B-1. C-IV, D-IIL

1[Option ID=3645]

2[Option ID=3646]

3[Option ID=3647]
4[Option ID=3648]

Sl. No.90
QBID:10944265




Grven below are two statements ;

Statement I : According to Abhinaya Darpana 'Ashrama’ is one of the qualities of
a dancer which can be attained by regular practise.

Statement II : By this quality Nadikeswara has underlined the importance of
stamima for a dancer.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I 1s false but Statement II is true

2 3 sy Ry &

®uF |« g gun & FaR sy Tae! & 0 § 9 UF & e R enard g
a1 o1 g=ar 7

HY I1 : 59 0 & g Afasy¥ 5 Tas! § WG &9q1 & Hed & Y@ifed f6al g

JUlad Y & A §, Hd U U deed] § 9 981 39 &1 99 Sl
(1) SFEI SR eFi 9 &

(2) S SRII aHf o9 &

(3) HU [ 9 & Afe BUT 1 3F9d &

(4) U] AT B AieT YA [ T &

1[Option ID=3649]
2[Option ID=3650]
3[Option ID=3651]
4[Option ID=3652]

Sl. No.91
QBID:10944266

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Chhau is danced to the accompaniment of Instrumental music only.

Reason R : In Kathak gat bhava is performed only to the accompaniment of
Instrumental music known as Lehara / Nagma.

In the light of the above statements. choose the correct answer from the options
erven below :




(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) A istrue but R 15 false
(4) A is false but R true

1 2 A fow aw & ue sty (Assertion A vy F faf@a & ar gEa
TR IO (ReasnnR};:ﬁ w7

a4 o5 Had g ofig i G W uEqd fRar Sar ¥

FROT R Fap F a79-#1a Fae aer-Toig ff 90 w ey =mar & B
T /FIHT Fod © |

IUH ¥ & HTelled - BT 7w fedl & d I8 3o &1 939 hifarg:
(1) AR ReE g ¥ AR AH g e ¥

(2) Ak Rea geg & afma R A Fr a8 cormn a8 &

(3) Ao & afea Rz ¥

(4) A & afea Raeg &

1[Option ID=3653]
2[Option ID=3654]
3[Option ID=3655]
4[Option ID=3656]

Sl. No.92
QBID:10944267

According to Abhinaya Darpana which of the following samyukata Hastas. uses
two different hastas i its formation?

(1) Bherunda
(2) Nagbandha

(3) Shankha

(4) Khatwa

g e & SreR FeffEa & 9 o1 W1 9gd % S -1ae | of fim g%l &1 W
Al &7

(1) d¥us

(2) ANTER

(3) =T

(4) =gl

1[Option ID=3657]

2[Option ID=3658]

3[Option ID=3659]
4[Option ID=3660]

Sl. No.93




QBID:10944268

According to number of beats which of the following tala does not have ten beats
=

(1) Chatusra Jati Matya

(2) Tisra Jati Ata

(3) Khanda Jati Triputa

(4) Misra Jati Thampa

AT @1 HE & feue 9 fAmieiEd | ° few oo § o |9E T8 gl ?
(1) =gH Wiid #ed

(2) fog o 3

(3) TUs Wi fEye

(4) Ty omid =9

1[Option ID=3661]
2[Option ID=3662]
3[Option ID=3663]
4[Option ID=3664]

Sl. No.94
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Utsaha 1s the sthayee bhava of which Rasa ?
(1) Karuna

(2) Shringara

(3) Veera

(4) Adhhuta

ST fd ¥ &1 RIR 4G &7
(1) &30

(2) ¥R

(3) dRr

(4) HHH

1[Option ID=3665]

2[Option ID=3666]

3[Option ID=3667]
4[Option ID=3668]
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Who is not a kathakali Dancer ?
(1) Kalamandalam Gori

(2) Chathunni Panikker

(3) Mayadhar Raut

(4) Mrnalini Sarabhai
T8 ¥ &9 FYSE I0F Tl 57
(1) HUHUSTH Tl




(2) =yl givEs
(3) HE T3

(4) HOEHT TRIHTE

1[Option ID=3673]
2[Option ID=3674]
3[Option ID=3675]
4[Option ID=3676]
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Match List I with List IT

List - 1 List - 11

A. Tee tee na dhi na dhi na I. Thaptaal
B. Dhi na dhi dhi na II. Choutal
C. Ka dhi ta dhi ta ITI. Roopak
D. Dha dha din ta kita dha IV. Dhamar

(e.g. A-IL. B-III, C-IV, D-II)

Choose the correct answer from the options given below :
(1) A-II B-I, C-IV, D-II
(2) A-L, B-IIL C-IV. D-III
(3) A-II, B-III, C-I, D-IV
(4) A-I B-II, C-III. D-IV

= 1 &1 g 11 ¥ e siforg
¥t 1 it 11
A, didtdtardi I. wua
B. diadidia II. 9
C. Hsci@ey . *u&
D. wuaféaride IV. ¥R

i fou U fomedl # 9 961 3% &1 99 i
(1) A-II B-I. C-IV, D-II
(2) A-L B-II. C-IV, D-III
(3) A-II, B-IIL, C-1. D-IV
(4) A-L B-II. C-III. D-IV

1[Option ID=3677]
2[Option ID=3678]




3[Option ID=3679]
4[Option ID=3680]
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Match List I with List IT

List-I List -II
A Udvahitam 1. Dirishti
B. Tirashcheena II. Shirobheda
|IC. Bherunda [II. Sanyuta hasta
D). Nimeelita V. Greeva

(e.g. : A-IL. B-IIL. C-IV. D-I)

Choose the correct answer from the options given below :
(1) A-II. B-IV. C-I1I. D-I
(2) A-IL B-II. C-III. D-IV
(3) A-IV. B-III. C-II. D-I
(4) A-II. B-IIL. C-IV, D-I

I 11 =1 11 ¥ e ifor
¥l I I 11
A [Sefeaq O
B. |foRefimn I |BRYe
c. |¥vTs . |[ggd e
D. |fFdifed Iv. [diar

=< feu U o edl § 9 ol 3R &1 9 HIfoid:
(1) A-IL B-IV, C-ITI. D-I

(2) A-L B-IL C-IIL, D-IV

(3) A-IV. B-III, C-IL D-I

(4) A-IL B-IIL C-IV. D-I

1[Option ID=3681]

2[Option ID=3682]

3[Option ID=3683]
4[Option ID=3684]
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Grven below are two statements ;
Statement I : Karma is a form of folk dance
Statement IT : Karma is danced only in the state of Bihar

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II 1s false

(4) Statement I 1s false but Statement II is true

#1921 wuE Ry e &
BY [ : B TBI B UF TR T |
HYF [ : F I Ho0 MeR T & Fa o ¢ |

SHRIad HYH & HE H, Ad [GU ¢ Gwcdl # o Fel Su &1 999 SIfug:
(1) FUF] IR <A I &

(2) FYAI AR SHf %9a B

(3) v [ 9@ &, ofd S I o9 &

(4) S 3T T AT BUA I T &

1[Option ID=3685]
2[Option ID=3686]
3[Option ID=3687]
4[Option ID=3688]
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Tatkar 1s presented m which classical dance form ?
(1) Manipuri

(2) Kathakal

(3) Kathak

(4) Mohimattam

g ot 0 # daer $t ol 82

(1) A
(2) Humfe
(3) FUF

(4) HifeTsEH

1[Option ID=3689]
2[Option ID=3690]




3[Option ID=3691]
4[Option ID=3692]
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Given below are two statements :
Statement I : Usually male Bharatnatyam dancers perform bare bodied.
Statement IT : Male dancer of Odhishi style too dance bare bodied.

In the light of the above statements. choose the correct answer from the options
given below

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement II is true

3 31 sya ey o &

HYF | ; I 0§ WRa-TeaH Kl & 999 SAER Gol TRR (B ° 9W) Jd S ¢

w11 : el 2eft & gov saer O g Tk @R § 39 99 3 o

IRied ®YH & HA® H, A [GU 0 G@wed! § 9 Hel Sud &1 994 SIg:
(1) #EI R el 9T &

(2) S AR SFf 9@ 8

(3) FEAIIAR AFA YT 3T &

(4) YT O 2 AfpT HUA I 90 &

1[Option ID=3693]
2[Option ID=3694]
3[Option ID=3695]
4[Option ID=3696]




